Bz

BB REENILEEE|
bR |

5315

=
/BB

— BB B & IR IR

SCALE=1:2,500

100 (m)

50

< ZOHIXT, [E] R

DFUEHIIZ

200000 (H1 4 B OVfil 1125000 (M1 Hi{4) 2458726 0O Th

b, KRB S Y2234, %5580 5)

F

ROKEREAGT, FFEIES

ke
4N

-
—

I
Y
M
i
a+m__m
pam)
o [H
13| o [HE
HI[SS [ |5
H [ | iz
(o g |2
sl
L
| (B
m (3
&
1| 1X1 | X1 [

ERTHERESN

BHDKESHDRK (KN/m?)

ZKUEEMIZ

THERE

=S (m)

BRROAMERTIHOLRROD

E

i

ENIVY é%é_m_ ®]
o sk e S|
#0 mlao K o
H/._”E ,.t.ly/.atzp _.P
RN RS
u¥y U S| 3
g 2l gl E
K ol 3] 72
HE “[HE | R
L 5 iz
S S
BEx |18
Mg 0@ g
HH K H
o 4% 4%
wWHI
R
HEN

RARRT




